Part	COUNTY/SCHOOL		(1) 2004-2005 TENTATIVE PER DIEM RATES	(2) 2003-2004 ENROLLED DAYS	(3) 2004-2005 PROJECTED SCHOOL YEAR TUITION RATES	(4) 2002-2003 PRELIMINARY PER DIEM (OVER)UNDER CHARGES
BERGEN COUNTY Alpine Learning Group 340.08 210 71,418 28.72	ATLANTIC COUNTY					
Perfect County Alpine Learning Group 340.08 210 71,418 28,72 28,72 340.08 210 35,208 1.80 1.80 1.80 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 20,000 2	Y.A.L.E. School East	(D)	174.07	180	31,333	10.22
YCS Sawtelle Annex Paramus 218.73 199 43,526 25.17 YCS Sawtelle Annex Ridgewood 261.41 199 52,020 16.18 YCS Sawtelle Learning Center Park Ridge 230.22 199 45,814 N/A BURLINGTON COUNTY Children's Home of Burlington Co. (M. Dobbins Sch.) 217.42 215 46,746 0.00 Garfield Park (Therapeutic Learning Center) 181.58 210 38,132 6,30 Githens Center (Burlington County C.P. Association) (D) 216.04 210 45,369 11.29 Hampton Academy 207.47 180 37,344 17.14 Kingsway Learning Center - Secondary 202.78 210 42,584 N/A Midway School 143.73 209 30,039 9.36 Y.A.L.E. School North (Medford Lakes Campus) 197.48 180 35,547 8.31 CAMDEN COUNTY Archway Programs - Atco 162.59 215 34,956 (7,44) Archway Programs (Challenge Alternative School) 149.96 215	BERGEN COUNTY Alpine Learning Group Bergen Center for Child Development Community School of Bergen (High School) Community School of Bergen (Lower School) David Gregory School ECLC of New Jersey (Ho-Ho-Kus Campus) Educational Partnership for Instructing Children Felician School for Exceptional Children Forum School High Point School of Bergen Co. (High Roads of Englewood) Holmstead School Institute for Educational Achievement JCC on the Palisades (Therapeutic Nursery) Learning Center for Exceptional Children Palisades Learning Center The Children's Therapy Center (CP of Bergen County) YCS Fort Lee Education Center YCS George Washington School	(D) (D) (D)	340.08 175.16 195.38 150.67 191.51 165.99 336.14 143.61 189.28 179.41 183.16 354.78 381.05 208.82 195.66 201.39 190.96 186.90	210 201 180 180 210 200 212 180 198 180 208 210 210 180 210 180	71,418 35,208 35,168 27,121 40,217 33,199 71,262 25,851 37,478 32,294 32,969 73,795 80,020 43,852 35,218 42,292 34,373 33,641	28.72 1.80 0.00 0.00 0.00 7.63 51.80 0.00 0.00 3.10 0.00 0.00 5.24 0.00 (5.47) 10.76 (5.78)
YCS Sawtelle Annex Ridgewood 261.41 199 52,020 16.18 YCS Sawtelle Learning Center Park Ridge 230.22 199 45,814 N/A BURLINGTON COUNTY Children's Home of Burlington Co. (M. Dobbins Sch.) 217.42 215 46,746 0.00 Garfield Park (Therapeutic Learning Center) 181.58 210 38,132 6.30 Githens Center (Burlington County C.P. Association) (D) 216.04 210 45,369 11.29 Hampton Academy 207.47 180 37,344 17.14 Kingsway Learning Center - Secondary 202.78 210 42,584 N/A Midway School 143.73 209 30,039 9.36 Y.A.L.E. School North (Medford Lakes Campus) 197.48 180 35,547 8.31 CAMDEN COUNTY Archway Programs - Atco 162.59 215 34,956 (7,44) Archway Programs (Challenge Alternative School) 149.96 215 32,241 (15.48) Bancroft School - Haddon Heights 192.91 2		(D)				
No. Purple Park Ridge P						
Children's Home of Burlington Co. (M. Dobbins Sch.) 217.42 215 46,746 0.00						
Archway Programs (Challenge Alternative School) 149.96 215 32,241 (15.48) Bancroft Preschool - Haddon Heights 192.91 211 40,705 (B) Bancroft School - Haddonfield Education 159.34 211 33,620 (B) Bancroft School at Voorhees Pediatric Facility 167.96 212 35,608 (B) Brookfield Academy (Alternative School) 188.31 210 39,545 6.50 Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96	BURLINGTON COUNTY Children's Home of Burlington Co. (M. Dobbins Sch.) Garfield Park (Therapeutic Learning Center) Githens Center (Burlington County C.P. Association) Hampton Academy Kingsway Learning Center - Secondary Midway School Y.A.L.E. School North (Medford Lakes Campus)	(D)	217.42 181.58 216.04 207.47 202.78 143.73	215 210 210 180 210 209	46,746 38,132 45,369 37,344 42,584 30,039	0.00 6.30 11.29 17.14 N/A 9.36
Archway Programs (Challenge Alternative School) 149.96 215 32,241 (15.48) Bancroft Preschool - Haddon Heights 192.91 211 40,705 (B) Bancroft School - Haddonfield Education 159.34 211 33,620 (B) Bancroft School at Voorhees Pediatric Facility 167.96 212 35,608 (B) Brookfield Academy (Alternative School) 188.31 210 39,545 6.50 Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96			162.59	215	34,956	(7.44)
Bancroft Preschool - Haddon Heights 192.91 211 40,705 (B) Bancroft School - Haddonfield Education 159.34 211 33,620 (B) Bancroft School at Voorhees Pediatric Facility 167.96 212 35,608 (B) Brookfield Academy (Alternative School) 188.31 210 39,545 6.50 Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96						* * * * * * * * * * * * * * * * * * *
Bancroft School - Haddonfield Education 159.34 211 33,620 (B) Bancroft School at Voorhees Pediatric Facility 167.96 212 35,608 (B) Brookfield Academy (Alternative School) 188.31 210 39,545 6.50 Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96	• • •					
Bancroft School at Voorhees Pediatric Facility 167.96 212 35,608 (B) Brookfield Academy (Alternative School) 188.31 210 39,545 6.50 Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96						
Brookfield Academy (Alternative School) 188.31 210 39,545 6.50 Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96						
Brookfield Elementary School 191.32 210 40,177 15.93 Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96	taran da antara da a			210		
Brookfield Transition to College 210.86 180 37,955 15.92 Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96						
Cerebral Palsy School and Treatment Center (D) 200.61 180 36,109 4.73 Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96						
Juvenile Resource Center (Alternative School) 217.32 180 39,117 0.00 Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96		(D)				
Kingsway Learning Center 182.48 210 38,322 3.54 LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96		` '		180	39,117	0.00
LARC School 169.66 210 35,628 1.41 Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96						
Y.A.L.E. School (Cherry Hill Campus) (D) 180.66 180 32,519 6.51 Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96				210	35,628	1.41
Y.A.L.E. School Southeast (D) 238.59 210 50,104 6.96		(D)				6.51
	YCS Virginia Sawtelle Learning Center - South	_(D)	251.00			

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2004-2005

⁽D)Extraordinary Services - districts must contact private schools for amount due

COUNTY/SCHOOL		(1) 2004-2005 TENTATIVE PER DIEM RATES	(2) 2003-2004 ENROLLED DAYS	(3) 2004-2005 PROJECTED SCHOOL YEAR TUITION RATES	(4) 2002-2003 PRELIMINARY PER DIEM (OVER)UNDER CHARGES
CUMBERLAND COUNTY					
Creative Achievement Academy (Grape Street)	ı	157.79	180	28,402	(0.04)
Creative Achievement Academy (West Street)	L	155.35	180	27,963	(0.07)
Creative Achievement Academy (Wood Street)	ı	157.37	180	28,327	(0.22)
Devereux New Jersey Center for Autism	L	244.53	214	52,330	15.00
Downe Academy		157.17	180	28,291	N/A
Pineland Learning Center		186.59	180	33,586	15.69
-					
ESSEX COUNTY					
1st Cerebral Palsy of NJ (CPC of Essex and West Hudson)		242.17	210	50,856	18.79
All Can Excel Academy		134.66	210	28,279	(2.66)
ARC - Essex County (Stepping Stones)		188.56	204	38,466	3.20
Banyan School		166.34	198	32,935	5.05
Child Development Center	ſ	190.45	180	34,281	(B)
Children's Institute	(D)	204.39	200	40,878	0.00
Deron School of New Jersey - II	(5)	191.39	210	40,192	6.65
Essex Valley School		187.45	180	33,740	1.66
Glenview Academy	(D)	218.57	210	45,900	4.10
Gramon School	(D)	203.42	210	42,718	(1.08)
Hineni School	(D)	301.00	209	62,909	(B)
Horizon School (Cerebral Palsy of North Jersey)	(D)	235.30	210	49,413	4.95
Lakeside School	(D)		210	48,385	0.32
	(D)	230.40	180	25,491	14.34
Milton School Mount Carmel Guild Preschool		141.62	210	,	
		205.13	180	43,077	(31.53)
Mount Carmel Guild School	ſ	206.29	199	37,133	(3.11)
Northwest Essex Community Healthcare Network	<u></u> [229.61		45,692	5.00
Phoenix Center	(D)	248.45	198	49,194	11.20
St. Anthony's Special Education School		266.44	180	47,960	22.30
St. Leo's Center	<i>,</i> _,	164.71	180	29,648	(52.80)
St. Patrick's Special Education School	(D)	184.85	180	33,273	(32.71)
Washington Academy	L	182.86	180	32,915	5.24
YCS Virginia Sawtelle Learning Center (Montclair)	(D)	247.12	199	49,177	13.96
GLOUCESTER COUNTY					
Archbishop Damiano School		158.63	210	33,313	0.00
Archway Programs - Washington Township		140.71	215	30,252	11.05
Bancroft School at Grenloch (Washington Township)		167.96	211	35,439	(B)
CPC of Gloucester and Salem Counties	(D)	214.67	208	44,652	10.00
Creative Achievement Academy (Lake Road)	(5)	151.09	180	27,195	0.89
Durand Academy	(D)	178.67	210	37,520	12.99
Y.A.L.E. School (Williamstown Campus)	(5)	175.98	180	31,677	5.80
				,	
HUDSON COUNTY					
North Hudson Academy		163.02	180	29,343	0.00
St. Joseph's School for the Blind		341.44	200	68,288	0.00
YCS, Ernest M. May Academy	(D)	209.41	180	37,693	(0.75)
YCS, Kearney Annex Program		242.54	180	43,657	(15.76)
HUNTERDON COUNTY					
HUNTERDON COUNTY Huntardon Loorning Contar		178.85	180	32,193	0.00
Hunterdon Learning Center			210	28,975	(0.53)
Spring Run School		137.97	210	40,713	(0.33)

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2004-2005

⁽D)Extraordinary Services - districts must contact private schools for amount due

APPENDIX J Date Issued: 6/2005

REVISED TENTATIVE TUITION RATES 2004-2005

	(1) 2004-2005 TENTATIVE PER DIEM	(2) 2 2003-2004 ENROLLED	(3) 2004-2005 PROJECTED SCHOOL YEAR TUITION	(4) 2002-2003 PRELIMINARY PER DIEM (OVER)UNDER
COUNTY/SCHOOL	RATES	DAYS	RATES	CHARGES
MERCER COUNTY		• • •	• • • • • •	0.00
Children's Day School (Family Guidance Center)	174.69	210	36,684	0.00
Delaware Valley School for Exceptional Children	222.02	180	39,963	(1.96)
Eden Institute	240.92	230	55,411	(3.11)
Lighthouse Academy	153.04	180	27,547	N/A
Newgrange School	199.73	180	35,951	9.05
Princeton Child Development Institute	337.89	208	70,280	0.00
Sister Georgine School (D	-	180	31,596	14.37
The Bridge Academy	170.83	180	30,749	N/A
Titusville Academy	172.13	180	30,983	8.20
MIDDLESEX COUNTY				
Center School	199.59	180	35,926	0.00
Gateway School	190.48	210	40,002	0.00
High Road Lower School	169.02	210	35,494	0.00
Lakeview School (C.P. Association of Middlesex Co.)	305.70	203	62,057	8.00
Newmark High School	215.50	180	38,790	N/A
You and Me School (JFK Medical Center)	236.06	213	50,281	8.54
MONMOUTH COUNTY				
ARC - Dorothy B. Hersh High School	202.16	209	42,251	(36.32)
Children's Center of Monmouth County (D) 214.40	213	45,667	0.30
Coastal Learning Center - North (Morganville)	191.33	210	40,179	6.43
Coastal Learning Center - South (Howell)	195.79	210	41,116	1.36
Collier High School	210.19	180	37,835	0.00
CPC Behavior Healthcare (High Point)	290.80	205	59,613	(0.29)
Harbor School	190.04	210	39,909	0.00
Oakwood School	195.06	180	35,111	0.00
Rugby School	261.43	210	54,900	0.00
School for Children (D	205.48	210	43,152	11.79
Schroth School (Ladacin Netowork Inc.)	198.64	221	43,899	0.00
SEARCH Day Program	221.88	219	48,592	(25.19)
Woodcliff Academy	181.95	192	34,934	(2.13)
MORRIS COUNTY				
Allegro School	320.65	210	67,336	0.00
Calais School	162.21	200	32,441	8.66
Chancellor Academy I	232.62	180	41,871	32.96
Chancellor Academy II (D		200	41,749	18.18
Children's Center for Therapy and Learning	219.93	210	46,184	0.00
Day Top Preparatory School	134.90	180	24,281	8.87
ECLC of New Jersey (Chatham Campus) (D		200	30,813	4.08
Montgomery Academy	207.49	180	37,347	0.00
Shephard Academy (Windsor Development Center)	204.32	180	36,778	(1.56)
Shephard High School (Windsor High School)	201.29	180	36,232	(0.73)

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2004-2005

⁽D)Extraordinary Services - districts must contact private schools for amount due

COUNTY/SCHOOL OCEAN COUNTY Alpha School Coastal Learning Center (Little Egg Harbor) Coastal Learning Center (Tuckerton) High Road School of Ocean County Lehmann School (Ladacin Network, Inc.) Ocean Academy (Ocean Mental Health Services) School for Children with Hidden Intelligence The Education Academy (D)	199.43 193.33 191.34 180.65 211.50 188.61	(2) 2003-2004 ENROLLED DAYS 210 210 210 210 223 210 209 210	(3) 2004-2005 PROJECTED SCHOOL YEAR TUITION RATES 41,880 40,599 40,181 37,937 47,165 39,609 44,752 36,373	(4) 2002-2003 PRELIMINARY PER DIEM (OVER)UNDER CHARGES 0.00 7.48 4.41 0.00 0.00 (0.98) 35.62 0.00
PASSAIC COUNTY Benway School Clearview School Community School (Family Connections) Lakeview Learning Center Mount St. Joseph Children's Center New Beginnings Annex Passaic County Elks - CPC Passaic County Elks - CPC (High School Annex) Windsor Academy Windsor Learning Center Windsor Preparatory High School Windsor School		180 180 210 180 210 180 201 201 183 210 183 180	35,699 31,453 36,814 35,317 51,753 34,224 47,887 50,635 39,008 45,265 39,124 36,976	0.00 16.33 1.57 2.40 0.00 (7.63) (7.78) (1.75) (1.41) (1.99) (3.86) (2.41)
SALEM COUNTY Strang School (Ranch Hope for Boys)	174.02	210	36,544	14.10
SOMERSET COUNTY Bonnie Brae School East Mountain School (Carrier Foundation) Green Brook Academy High Road Upper School Jerry Davis Early Childhood Center Lord Stirling School Matheny School McAuley School Midland School Rock Brook School Somerset Hills Learning Institute Somerset Hills School	350.79 230.50 208.21 179.40 156.45 279.61 353.57 202.62 170.07 184.15 444.86 323.71	180 210 180 180 212 210 221 210 210 210 208 180	63,143 48,405 37,478 32,292 33,167 58,717 78,140 42,550 35,715 38,672 92,531 58,267	22.86 15.43 5.17 0.00 6.92 7.34 0.00 15.30 6.27 0.00 0.00 19.19
SUSSEX COUNTY Cedar Cliff Academy Celebrate the Children Lakeland-Andover School Willowglen Academy	(C) 196.52 200.63 202.36	N/A 180 180 210	N/A 35,374 36,114 42,497	(B) N/A 17.01 15.20

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2004-2005

⁽D)Extraordinary Services - districts must contact private schools for amount due

				(3)	(4)
		(1)		2004-2005	2002-2003
		2004-2005	(2)	PROJECTED	PRELIMINARY
		TENTATIVE	2003-2004	SCHOOL YEAR	PER DIEM
		PER DIEM	ENROLLED	TUITION	(OVER)UNDER
COUNTY/SCHOOL		RATES	DAYS	RATES	CHARGES
UNION COUNTY					
Children's Specialized Hospital		210.84	221	46,596	14.94
Deron School of New Jersey - I	ſ	179.83	210	37,764	0.09
Jardine Academy I - Union (C.P. League)	D)	292.37	210	61,398	(4.91)
	D)	334.35	210	70,214	28.10
Kohler Child Development Center (ARC of Union Co.)		199.79	220	43,953	17.11
Newmark School (Landmark)		199.15	180	35,846	0.00
Summit Speech School (F.M. Kirby Center)		235.40	210	49,434	0.00
The Little Schoolhouse	Ī	225.96	210	47,452	N/A
Victory School	_	219.18	182	39,891	0.00
WARREN COUNTY					
Stepping Stone School		182.87	210	38,403	11.25

⁽A)New School - rate to be determined based on a budget

⁽B)Audit has not been received, adjustment not available

⁽C)Not in operation 2004-2005

⁽D)Extraordinary Services - districts must contact private schools for amount due